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Math 221- Spring 2010 - Test 1

Instructor: Dr. Francesco Strazzallo Name b(b)/

Instructions. Only calculators are allowed on this examination. Point values of each problew are indicated.
Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORIK NEATLY, PLEASE (no work, no credit).

1. {18 pts) ldentifv any intercept and test for synnnetry the function y =6 — |z|. You can not justify

your answer with a graph.
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2. 048 pist Write an cquation of the lines through the point (—6,4), which are vespectively parallel and
perpendiculay to the line 3w+ 4y =7.
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3. (24 pls) The thme ¢ (in seconds) required to attain a speed of s wmiles per hour from a standing start
for a Dodge Aveneer is shown in the table.

s 130 |40 150 | 60 | 70| 80 | 90
T S 105 O 5 719312158 |20

(a) Using your calculator, make a scatter plot of the data (reporting the coordinates of the points
along the axis) and find the gnadratic model which is the best fit for the data.

(b} Using the standing stert point (0,0), repeat part (a) overwriting on the previous grapli. Report
botl models approximating to the fourth decimal place.
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1.

(/& pis) Find the domain and range, n interval notation, of the function  f(x)
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5. (18 pis) Determine a maximal interval in the domain ou which f(x) = v4 — 22 is oue-to-once, then
y s )

find the inverse function over this interval.
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G. (18 pts) Solve the equation  arctan (2z — 5) = —1
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TS pls) Solve the cquation ¢37h = 2
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